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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet. :

1-  The two lawyers

their contract and each opened a separate office.

1) resigned 2) hindered 3) penalized 4) terminated
2-  The police ordered the robbers to --——-—-- their weapons.

1) cease 2) settle 3) surrender 4) collapse
3- The nation’s economy was largely -——-——- by foreign aid.

1) imported 2) sustained 3) disposed 4) accompanied
4- Unfortunately the current law —---—-— any improvement in the country’s trade with

foreign countries.

1) impedes 2) compels 3) exposes 4) abstains
5-  They are using that hall to hold their party

1) juncture 2) convention 3) intersection 4) circumstance
6- Talking about money now would be a —-—--——- from the main purpose of this meeting.

1) digression 2) detention 3) disputation 4) dispersion

7-  There have been calls for the drug’s immediate ---———-—-, following reports that it has
dangerous side effects.

1) protest 2) discharge 3) disposition 4) suspension
8- I have not read any of the previous chapters of this book, so you will have to give me a
brief —--—-,
1) outlook 2) synopsis i) panorama 4) prospect
9-  Practical experience is an ----—----- part of this course.
1) integral 2) adequate 3) accelerated 4) expository
10- Some of these plants are more to frost damage than others.

1) inherent 2) forthcoming 3) susceptible 4) instrumental

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each Space. Then mark the correct choice on your answer sheet. |

We ha!.rt said ear[mr that climates dre cuntlnuuusljf changing. (11) -------——-- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in -::Ilrnate (12) - are a result of
mankind’s own activities. Scientists have been able to reconstruct accurately the average
temperature of the Earth (13} —-——- years using millions of individual thermometer readings
(14) e world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 9.5°C(1°F). The warmest years all occurred in the 1980s. Although it
is not yet known for certain, (15) --------—- explanation for this global-scale warming 1s the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

11- " 1) There thought 2) It was thought

3) It has been thought 4) There has been thought
12- 1) we have seen 2) we saw them 3) that have seen 4) that saw them
13- 1) over 100 last 2} across 100 last 3) over the last 100 4) across the last 100
14- 1) of around 2) from around 3) of around the 4) from around the
15- 1) likely most 2) most likely 3) the most likely 4) likely. the most
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lor (4). Tﬁen mark it on your answer sheet.

A wet meadow is a semi-wetland meadow which is saturated with water throughout much of
the year. Wet meadows may occur because of poor drainage or the receipt of large amounts
of water from rain or melted snow. They may also oceur in riparian zones. Unlike a marsh or
swmp,awetmeaduwdmuuthav&ﬂanﬂmgwnter present except for brief to moderate
periods during the growing season. Instead, the ground in a wet meadow is typically damp
and squishy, like a well-soaked sponge. Wet meadows therefore do not usually support
aquatic life such as fish. They are, however, nveryw-vmmrandtypmﬂlyam-:t
large numbers of birds, small mammals and insects m::]udmg bintterflies. Vegetation in a wet
meadow usually includes a wide variety of herbaceous species including sedges, rushes, forbs
and grasses. Woody plants if present, account for a minority ‘of the total area cover. Wet
meadows were once common through American states such as Illinois and Mu:h.'lgm‘l but their
range has been dramatically reduced. In some areas, wet meadows are often partially drained
and farmed and therefore lack the biodiversity deseribed here. The soils in wet meadows
often consist of silty and clay-like materials in depressional areas. The major soils are
dominantly wet phases, or undrained phases of Peotone silty elay loam, Denny silt loam. The
pH reaction is typically neutral. Due to the concern with damage that excessive stormwater
runoff can cause to nearby lakes and streams, many péople are creating wet meadows to
capture stormwater. The idea is to capture and store rainwater onsite and use it as a resource
to grow attractive native plants that thrive in such conditions.

The passage points to the fact that —--——=-—,
1) wet meadows can form on the banks of rivers
2) semi-wetland meadows are ofien sat'ﬂmtﬂd with water

3) runoff water is crucial in the life-cycle of a wet meadow

4) poor drainage is due mainly to large amounts of snow and rain
It is stated in the passage that
1) rushes attract a lot of birds to wet meadows

2) wet meadows are not hospitable to woody plants

3) moderate periods of rain lead to good growing seasons

4) fish can survive only in extremely soaked wet-meadows

It might be understood from the passage that wet meadows —-—-----,
1) are not farmable in their original state

2) consist more of clay in depressional areas

3) formed much of Illinois and Michigan in the past

4) were the main source of biodiversity in American in the past

It is clear from the passage that wet meadows

1) grow on native plants resources 2) can be both natural and artificial

3) may vary in pH from place to place 4) are a cause of excessive storm-water
The word ‘fecund® in the passage (underlined) is closely related to — .

1) ‘temperature’ 2) ‘*health’ 3) ‘growth’ 4) ‘food’
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Rangeland refers to expansive, mostly unimproved lands on which a significant proportion of
the natural vegetation is native grasses, grass-like plants, forbs, and shrubs. Rangeland also
consists of areas seeded to native or adapted introduced species that are managed like native
vegetation. Rangelands include natural grasslands, savannas, shrublands, many dﬂtﬂs

tundra, alpine communities, coastal marshes, and wet meadows. Rangeland is generally arid,
semi-arid, sub-humid or otherwise unsuitable for cultivation. Ranches are likely to comprise
mainly rangeland. In the United States, around 399 million acres of rangeland are privately
owned, The Bureau of Land Management manages about 167 million acres of publicly
owned rangeland, with the United States Forest Service managing approximately 95 million
acres more. Ranchers may lease portions of this public rangeland and pay a fee based on the
number and type of livestock and the period for which they are on the land. Many western
states have open range laws. In these states, all land, both public and private, is designated as
open range unless it is within city limits. In open range, it becomes the responsibility of the
land owner to keep unwanted livestock off their land and the livestock owner is not liable for
any damage caused by the livestock. In Kenya, rangelands make up for 75% of the land
surface area, and are largely inhabited by nomadic pam:rollsts who are largely dependent on
livestock. This movement often brings along  an jpgursiop of different diseases with the
common one being the rinderpest virus in the Kenyan wildlife population from the Somalian
ecosystem.

The passage points to the fact that rangelands

1) can have extremely dry spots in them

2) include more grassland than meadows

3) is sometimes dominated by non-native species

4) may be greatly improved through proper management
It is stated in the passage that —————--.

1) rangelands consist mainly of ranches 2) wet meadows are part of coastal marshes
3) rangelands may be owned by individuals 4) it is too expensive to farm in rangelands
The passage mentions that open ranges —-—--———.

1) refer to all out-of-city land 2) have livestock-raising owners

3} have a lot of unwanted livestock 4) can be found across the Unites States

We may understand from the passage that -
1) the US has bigger rangelands than Kenya
2) the wild’s rangelands from part of its open lands

3) most wildlife diseases in Kenya come from Somalia

4) rangeland and open range refer to the same concept

The word ‘incursion’ in the passage (underlined) is closest to —
1) ‘separate’ 2) ‘combine’ 3) ‘suffer’ 4) ‘attack’

—
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Hydroinformatics is a branch of Informatics’ which concentrates on the application of
information and communications technologies (ICTs) in addressing the increasingly serious
problems of the equitable and efficient use of water for many different purposes. Growing out
of the earlier discipline of computational hydraulics, the numerical simulation of water flows
and related processes remains a mainstay of hydroinformatics, which encourages a focus not
only on the technology but on its application in a social context, On the technical side, in
addition to computational hydraulics, hydroinformatics has a strong interest in the use of
techniques originating in the so-called artificial intelligence community, such as arificial
neural networks or recently support vector machines and genetic programming. These might
be used with large collections of observed data for the purpose of data mining for knowledge
discovery, or with data generated from an existing, physically based model in order to
generate a computationally efficient gmulator of that model for some purpose.
Hydroinformatics recognises the inherently social nature of the problems of water
management and of decision making processes, and strives to understand the social processes
by which technologies are brought into use. Since the problems of water management are
most severe in the majority world, while the resources to obtain and develop technological
solutions are concentrated in the hands of the minority, the need to examine these social
processes are particularly acute. Hydroinformatics draws on and integrates hydraulics,
hydrology, environmental engineering and many other disciplines. It sees application at all
points in the water cycle from atmosphere to ocean, and in artificial interventions in that
cycle such as urban drainage and water supply systems.

26~ It is stated in the passage that hydroinformatics --——-——.
1) is mainly the simulation of water flows
2) helps ICTs to address water usé problems
3) originates in computational hydraulics
4) applies to the social context of water consumption
27- The passage mentions that hydreinformatics —-———-- ;
1) develops into artificial neural networks
2) and support vector machines are related
3) is a kind of artificial intelligence technique
4) can, in fact, be a kind of genetic programming
28- The passage points to the fact that hydroinformatfics is

————

1) generally too difficult to understand 2) the solution to water supply problems
3) focused on urban drainage today 4) a combination of many sciences
29- The word ‘These’ in the passage (underlined) can refer to -,
1) *artificial meural networks’ 2) ‘collections of observed data’
3) *hydroinformatics’ 4) ‘computational hydraulics’
30- The word ‘emulator’ in the passage (underlined) is best related to —————— .
1) *copy’ 2) “cycle’ 3) ‘apply”’ 4) “obtain’
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